md the quotient of the probla
below. State if the divisor is a factor

of the dividend. Then state the
division algorithm as it relates to
the problem

(2x3—x2—2x+6)+(2x+3)

Polynomial Long Division Practice

md the quotient of the problem/
below. State if the divisor is a factor

Find the quotient of the problﬁ md the quotient of the probl&
below. State if the divisor is a factor || below. State if the divisor is a factor

of the dividend. Then state the
division algorithm as it relates to
the problem

xd —9x3 +13x% — 8 + 3
2% — 3

of the dividend. Then state the
division algorithm as it relates to the
problem. Write any remainders in
fraction form

(3x% + 22x> - 48x - 5) = (3x - 5)

of the dividend. Then state the
division algorithm as it relates to the
problem. Write any remainders in
fraction form

ax? + 35x° — 54x — 26
ix + 3




Find the quotient of the problem
below. Then continue to factor the
quotient and state in the form of the
division algorithm

X0 —4x2 —11x + 30
x—2

Find the quotient of the problem
below. Then continue to factor the
quotient and state in the form of the
division algorithm

x3—3x2—4x+12
x—3

ﬁind the missing information |
the problem below

-4 s X2+ ax*-6x 13
-(x2-1x®
bx2-bx +
- (b -24%)
13X+ 12
- (13x-73)

84

Nﬂind the missing informationh

-1%0
X-3

x2 -|ly +5¥4 +

x3 | x3-2 falx -8
3 -3%

~1IX? 12lx 18
-1 +3%
s'x-13
54x -\
-\%0

Correct any mistakes in the
problem above

the problem below
x® _x -3
x3+'&ya-(ox Fl2
- (x343%%)
-X>-bY + 1
- (-¥*-3x)

-(3x-9)
Y|

%

3 M HIx 4 1T \
— X2
-2 | XT#3X7-XT +3

- ! -ax?)

>-x* +3
= (,_'XS _%x;)

X3

NS

11

Correct any mistakes in the
problem above

J




